What is This Riddle in the Form of a Poem?

Can you figure out the subject matter of it?
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Clue: It deals with the Second Radical - W‘ L’ﬁ,“

Are you able to figure out what the poem really means? Try to memorize it.
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The Unique Characteristic of the Second Radical -
£ 2 - of the Three Letter Arabic Verb

Fatah will change into Dummah y A changes into U

Fatah will change into Kasrah A changes into |

Or Fatah will remain Fatah ; A remains same A

Dummah will always be Dummah y . U will always be U

Kasrah will change into Fatah 2 I will change into A

-
Or it will remain same Or I will remain same I

;-’\jj = Groups.

If in the @b\l\ Jad\ there is a Fatah on the W\ i,-g;
it can change into Dummah in the é )\;'d\ J:'-éj\ for example (Group A — U) 3:44: : /J;.m/ or
it can change into Kasrah for example (Group A —1) :J Jnm: : ;J;-:o or

s . oL
it can remain same for example (Group A — A) T cﬁ .

But if it has Dummah on the &JSJ i,-g; in 9-;'0\-\\ Jadl! then in &)\:&U Jad)

it will always have Dummah for example (Group U — U) e;gai : é;f .

If the W‘ :ﬂ:@ has a Kasrah in ‘;,b\l\ J:ujﬂ
it will change into Fatah in }C )\.:’al\ Jié.“ for example (Group I — A) co-wa} A /@..a/ “ Oor

2 o - - e
it will remain same for example (Group I - ) e | o .

-
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